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This is Rabi Mayer who is not concerned for dying, etc.

OVERVIEW

»aR reconciles our mIwnR (2P XYW NPIIA 7R1IN2 NP9IR 191 PR nN2) which is not
concerned 1n°n, and the XN»72 (771702 1KY 770K 91 T3 1'077) which is wn
nnnY, that our mwn follows n"9 and the &n>>12 is >". Shortly X271 will distinguish
between N Nnw (where 1w 89) and N Xaw (where 12°wn); indicating that »ax
does not differentiate between nn X»nw and N> X»w. Our MdOIN qualifies this.
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(Even) Now that »™2X compares n» X»w to nm> X»w, nevertheless he does not

equate them completely, moon proves this —
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For, »''7, whom we have established our mwn» like his view that he is not

concerned that ‘perhaps he died’ even for an extended period of time,
nevertheless this 1" -
= (8,397 703 PON 7T P93 13NT NI JITY M1 RNPWYY WIN

Is concerned for ns X»w if it is over an extended period of time, as the mw»
states in 1R '7 POD -
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‘Four brothers, two of whom are married to two sisters, and the two brothers

who married the two sisters died childless, the rule is -
=192 MNN 50ab 9N 92077 0IYN NI Y919 MNI*HNI N9 I8N YN 9N

That these two sisters receive 17391 from the remaining brothers, but are not
allowed to be 23°n% by the brothers’. And the X923 explains there the reason why
they are not m»na1°n», because the Xin of this 7w» maintains it is forbidden to

annul the mx2 of 2139, and we are concerned if we allow them to be 22»n» -
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That perhaps while one brother is 22%» one sister, the other remaining brother

!'See ‘Overview’. Our 71wn is a case of N Xnw; the Xn»™721 is a case of N1’ Xnw. However, 2K (as opposed to X217)
did not use this distinction, indicating that according to *"aX there is (seemingly) no difference.

> We cannot say that 1" is never W for N Xaw, just as we cannot say that >"3 is always W for na Xnw.

? Our 7awn does not restrict for how long she may eat 7m7n, indicating that she may eat 7170 indefinitely.

4 g N2, LJANY are four brothers. 1WawY 12387 married R 900 (two sisters) respectively. 1wnaw 120 died
childless, making %1 m1 obligated to have 012° or 7%*1 from 77177 17 (the surviving brothers). Neither "% nor 3777
can be 02n both sisters, since the second one is 1NWX NNX; however they seemingly can each be 01>» one sister.
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will die® and we will be ua» the 123° n1%%; now oo concludes his proof -
= (NP 97 a0+ 72 7992 99N 2295 NY YPI NIYN NN

And in the second 9 of n2% Noon we establish this mwn according to »''s —

Mmoo offers an additional proof that in certain cases everyone is W for mn> Xnw:
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And later in the last P92 the X713 also says, according to everyone, ‘conversion
is not common, death is common’.

mooIn clarifies the same concept according to the one who is 0% w>n:
- ANYRY N RNPYWY YA RY 79NIRY M1 RNYY WHNT ) N11N3 %299

And also according to °''" who is concerned for ny»® RX»w immediately,

nevertheless he is not concerned for n» X»w immediately -
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For if you will not say so (but rather maintain that >" is w1 n for In9R% N XAW),
the rule should be that the wife of a 375, whose husband left from the door of

his house, should not eat 1772190 since 7nox> nn xaw Pw N -
- 117392 NYYA NNV NYYI ON 9 DINN X9

So the 770 nWX should not eat 772190 unless she sees her husband in front of her!
$9NYNY 11 XYY 12191 119 1) NIY NN D127 XY INT NN

Rather we must certainly say that 22X does not compare all cases of N Xnw and

5 Let us assume that % will be 511 02, and then 777> would die, so %% would not be under any obligation to have
012> or 7¥°on from "7, since she is NWX MR and prohibited as an 77y to *?, which would completely annul the
entire mxn of 012’ for XY, which initially (before ™2 married 717) she was obligated to receive either 012° or 7¥°7m.
We do not wish to annul the m¥» of 012°. Therefore it is preferable that they both receive 7¥°>r. This 7713 is made
because we are concerned that the remaining brother will die (n1n° Xnw).

® The xma there asked a contradiction from that 71w» on n" (who maintains 77°7 7°X) and did not say that n"9 argues
with the 71wn, but rather reconciles it with »"9; indicating that that 771wn is valid even according to n"1. We see from
that 7awn that »"1 is concerned for N Xnw (see footnote # 5), so how can we say here that if we are not wwn for
nn Rnw we are also not Wi for n1n° Rnw, when 79 is not wwn for n» Rnw but is wwn for N RAY (in M), We
must therefore distinguish between different cases of nn Xnw and N1 X»Ww that in certain cases they are the same and
other cases they are different as n1901N continues to explain.

7 The mwn there states that one may not qualify the permission granted to a woman to remarry after receiving a o, if
it limits her ability to marry anyone whom 2 o910 7w TR, however if he prohibits her from marrying someone
where it is 712 109N PYITP X (like her brother) that is not considered limiting her ability to remarry, for she can
never marry him regardless. The X3 permits limiting her to marry a "13 (even though he may eventually convert)
since X5 X2 M°3; however the va is 7109 if he prohibited her from marrying her sister’s husband, since if her sister
dies she is eligible to marry her (former) brother-in-law, for &m°ow 0.

¥ The xm3 there does not state 'Xn2y “2129'; rather it states its answer without qualifying it, meaning that this
difference between n17°) and 7nn is according to everyone even »"7. In any event it is apparent that everyone is
concerned for N2> Xnw (when it is 72171 119). Therefore we must distinguish between different cases of N> xnw.

? This is why she is 7% 721702 91987 770K, for we are concerned that he will die shortly.
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mn> xnw, but rather he compares n» 8»w for an extended time'® to nws x»w
“NORY.

SUMMARY

According to »2aX all are wwn for 721 1219 NIN° XKW, none are wWwIn for nn Xnw
noxY, ! regarding 7217 1t N Xaw and INHRY N> X»w, according to n'3 we are
not W and according to >"1 we are WwIn.

THINKING IT OVER
What is the logic in differentiating by m»° Xnw whether it is In%X% or 72177 112,
since 1N is something which is not known by man, why should there be this

difference?!?

' This means that n"1 who is not wwn (even) for 7a1m Tar> i xnw (like the case in our 73w») where she can eat
7m0 indefinitely, he is not wwin for An%RY N> X»w, but he is wwn for 721 112 N ®AWw (as is evident in the Xna
in Mn2° and from XmPow 70 RPOWw X2 N1°3). Similarly, *" who is wwin for AnDR? N> Xnw (the case of Avw w3 100
*nnn oTp R [see footnote # 9]) and 712177 112 N1 RAw, is not W for INR? N XY (a regular 37 NWK).

' See 7910 203 cited in 7w nona that In9KY is less than seven days.

12 See ywim 210 and bR wnon XK # 141-144.
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